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%.3. Two basic synchronizers __———— —

}_,z%."EEﬁabLi-sh—ﬂ : i Me5ap Prove it.

3 Consider a 15-processor asynchronous network with processors 0, ...,14. The proces-

sors constantly run a synchronizer. Let v and v’ be two processors in the network,
and suppose that at a certain moment, the pulse counter at v shows p = 27. What is
the range of possible pulse numbers at v’ in each of the following cases:

(a) The network is a ring (with the processors arranged according to their numbers),
v is processor number 11, v’ is processor number 2 and the synchronizer used is

ce.
(b) The network is a full helanced binary tree (4 levels), v is the root, v’ is one of
the leaves and the synchronizer used is 5.

(¢) The same as in (b), except both v and v are leaves.

: are the message and time complexities of the asynchronous broadeast algo-
rithms o and B{FL0OOD) resulting from co indiE the synchronous Algorithm
FLooD on top of sync izers o and ectively?

6. Consider a model ¢ and LOCAL models, that is, with asyn-
chronous ¢ “hication but allowing arbitresily large messages. Which synchronizer
ispreferable in this model? Justify your answ
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